TE126 DEUTERON ACER TENDL-2021 LIBRARY; T=0.K
Principal cross sections
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TE126 DEUTERON ACER TENDL-2021 LIBRARY; T=0.K

Threshold reactions

25 | | |
— (d)x)
——  (d,f)d
— inelpstic
~297 — @n i
0 ——  (d.da)
T
o
~ 15— i
c
O
O
5}
N 1.0 i
w
(7))
o
@)
0.5 .
0.0 S — | | | | | | |

80 100 120
Energy (MeV)

140

160

180

200




LYoniCos

TE126 DEUTERON ACER TENDL-2021 LIBRARY; T=0.K
angular distribution for elastic
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TE126 DEUTERON ACER TENDL-2021 LIBRARY; T=0.K
angular distribution for elastic
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TE126 DEUTERON ACER TENDL-2021 k&
Deuteron emission for (d,x)
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TE126 DEUTERON ACER TENDL-202
Deuteron emission for (d,n*)d
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TE126 DEUTERON ACER TENDL-202
Deuteron emission for inelastic
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TE126 DEUTERON ACER TENDL-202
Deuteron emission for (d,pd)
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TE126 DEUTERON ACER TENDL-202
Deuteron emission for (d,da)
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